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Quadratics Quiz: Write EVERYTHING about the parabola Name: A;\NF Cep -
T

Record your answers below, it is optional to show work on a scrap piece of paper. Partial credit will be given.

Nertey
When given the equation in factored form

2) a) Graphy =%(x—4)(x +2) (On your graph, label the axis, scale,ints & the AOS). ( 1 , /g[ i))
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The zeros of this equation are = 4 x= -1 Cﬁ(/ O)
f 4400 1 [
b) Vertex is (_‘_, —% ). The equation of the Axis of symmetry i€(x ‘= 2.
o) y-intis (O, “4). @are: (4 0 yand (-1, 0 ) ifapplicable.
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d) This parabola opens 'VL‘Q . Thevertex ig a MU (max/min) value.

e) List the transformations:
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g) Write the three forms of the equation, in their proper form. 9 - 0\7(‘:. . LZ e
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Standard form is: y= &7‘ A — 4’
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Vertex form is: y= J)(_ <7C ”“ ( }2‘ - ?A 6: G\(l'[,\)

Factored (zeros) form is: y= ’%_( Ji8 "4’}(7”’Z> 8 - 0\( 20— ,—) (?\ _57



